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1. The Treaty of Versailles ended World War One. The people who decided the terms of the treaty were known as the ‘big three’. Complete the following table.   

	
	Country
	Name
	What he wanted
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	France
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	Britain
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	USA
	
	


2. Name three terms of the Treaty that ended World War One.               

3. What year was Hitler elected to power in Germany?

4. What was the League of Nations?






5. Look at the following source. How useful is it in explaining the weaknesses of the League of Nations?
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6. What was appeasement?









7. Give three arguments for appeasement and three arguments against appeasement.











8. Look at the source below. What event does it portray?
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09. ‘World War Two was caused by the Treaty of Versailles.’ Do you agree with this statement? Explain your answer with reference to the Treaty, Hitler’s foreign policy, failure of the League of Nations and Appeasement.
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